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0,00 0,000 3 0,000| | 16:000
1,00 3,000 3 1,500 14,000
2,00 6,000 3 6,000 12,000 |
3,00 9,000 3] 13,500 10,000 -
4,00 12,000 3] 24,000 8,000 -
5,00 15,000 3] 37,500 6,000 |
6,00 15,000 0| 52,500 ’
7,00 |[[ 15,000 o 67,500 4,000 1
8,00 15,000 o| 82,500 2,000 +
9,00 15,000 o[ 97,500 0,000
10,00 15,000 0] 112,500 O 9O O 9O 9O 9O O O O
11,00 [ 15,000 o[ 127,500 o ¥ W & 20,080,020 & 0"
12,00 [ 15,000 0| 142,500
13,00 [ 15,000 0| 157,500
14,00 |[ 15,000 0| 172,500
15,00 [ 15,000 6| 187,500
16,00 [[ 9,000 6| 199,500 s
17,00 || 3,000 s 205500 | OO0 L
17,5]| 0,000 6] 206,250 ﬁ
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